(

(i (i (omm (]

M5x14 (x4) M6x14 (x4) M6x30 (x4) M8x30 (x4)
A B C D

o 0) 0

| M8x12 (x4) M6x14 (x4)
N o

M8x5E0 (x4) F (x4) 5mm (x8) 15mm (x8)
M8x65 (x6) 50mm (x6)
1 J

)i

\_




LED/LCD/Plasma Wall
Support

MOUNTING INSTRUCTIONS




